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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 14 questions. All questions are compulsory.
(i)  This question paper is divided into three sections — Sections A, B and C.

(iti) Section A comprises of 6 questions (Q.no. 1 to 6) of 2 marks each. Internal
choice has been provided in two questions.

(iv) Section B comprises of 4 questions (Q.no. 7 to 10) of 3 marks each. Internal
choice has been provided in one question.

(v) Section C comprises of 4 questions (Q.no. 11 to 14) of 4 marks each. Internal
choice has been provided in one question. It also contains two case study based
questions.

(vi)  Use of calculator is not permitted.

SECTION A

Question numbers 1 to 6 carry 2 marks each.

1. (a)  If the first term of an A.P. is 5, the nth term is 40 and the sum of

first n terms is 180, find the value of n. 2
OR
(b)  Find the 20th term of the A.P. whose 7th term is 24 less than the
11th term, the first term being 12. 2
2. (a) Solve fory: 2
9y2-64=0
OR
(b)  Write a quadratic equation whose roots are — 7 and 9. 2
3. Find the sum of the lower limit of modal class and the upper limit of the
median class in the following distribution : 2
Class 0-5 | 5-10 |10-15|15-20 | 20 — 25
Interval
Frequency 2 9 6 7 1
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4, In Figure 1, PQ and PR are tangents to the circle such that © QOP = 70°.
Find the measure of £ QPR. 2

Figure 1

5. If the mean of the following frequency distribution is 24, find the missing

frequency ‘k’. 2
Marks 0-10 {10-20]20-30|30—-40|40-50
Number of Students 15 20 35 k 10

6. If %, k, 2 are three consecutive terms of an A.P., then find the value of k. 2

SECTION B

Question numbers 7 to 10 carry 3 marks each.

7. Construct a pair of tangents to the circle of radius 4 cm from a point
which is at a distance of 6 cm from the centre. 3
8. (a) A solid copper rod of diameter 1 cm and length 8 cm is drawn into
a wire of length 18 cm of uniform thickness. Find the thickness of
the wire. 3
OR

(b)  Three metallic spheres of radii 6 cm, 8 cm and 10 cm respectively,
are melted to form a single solid sphere. Find the radius of the
resulting sphere. 3
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9. Three cubes each of volume 216 cm3 are joined end to end to form a
cuboid. Find the total surface area of the resulting cuboid. 3

10. The angle of elevation of a ladder leaning against a wall is 60° and the
foot of the ladder is 9'5 m away from the wall. Find the length of the
ladder. 3

SECTION C

Question numbers 11 to 14 carry 4 marks each.

11. From a point on the ground, the angle of elevation of the bottom and the

top of a transmission tower fixed at the top of a 20 m high building are

45° and 60° respectively. Find the height of the tower. 4
12. (a) Prove that the parallelogram circumscribing a circle is a rhombus. 4
OR

(b) In Figure 2, a quadrilateral ABCD is drawn to circumscribe a
circle. Prove that AB + CD = AD + BC. 4

D

Figure 2
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Case Study 1

13. Ramesh, a farmer, wishes to fence off his rectangular field of given area
1500 m2. The length of the field lies along a straight river. A wire of
length 110 m is required for the fencing assuming that along the river, no

fencing is needed for the field.

A
o
v

(a)  Write the perimeter and the area of the rectangular field in terms

of X’ and ‘y’. 2

(b)  What are the dimensions of the rectangular field ? 2
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Case Study 2

14. A museum is a place where old relics are kept for public display. A visit
to the museum imparts us knowledge about the history, civilization,
culture, lifestyle, architecture and art of the country.

A group of 71 people visited the National Museum in Delhi on a certain day.

The following table shows their ages :

Age Number of
(in years) Persons
Less than 10 3
Less than 20 10
Less than 30 22
Less than 40 40
Less than 50 54
Less than 60 71

(a)  Find the median age of the persons who visited the museum.

(b)  Find the mean age of the persons who visited the museum.
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